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Условие: 

Решить неравенство по методу мажорант: 

cos 𝑥 − 𝑦2 − √𝑦 − 𝑥2 − 1 ≥ 0. 

Решение:  

cos 𝑥 − 𝑦2 − √𝑦 − 𝑥2 − 1 ≥ 0 ⇒ √𝑦 − 𝑥2 − 1 ≤ cos 𝑥 − 𝑦2, 𝑦 − 𝑥2 − 1 ≥ 0 ⇒ 𝑦 ≥ 𝑥2 + 1 ≥ 1,  

с другой стороны √𝑦 − 𝑥2 − 1 ≥ 0 ⇒  cos 𝑥 − 𝑦2 ≥ 0 ⇒ cos 𝑥 ≥ 𝑦2 ≥ 1 (𝑦 ≥ 1), но cos 𝑥 ≤ 1 ⇒ 

⇒ 1 ≥ cos 𝑥 ≥ 𝑦2 ≥ 1 ⇒ 1 = 𝑦2 = cos 𝑥 , 𝑦 ≥ 1 ⇒ 𝑦 = 1, cos 𝑥 = 1 ⇒ 𝑥 = 2𝜋𝑘, 𝑘 ∈ ℤ, 

но 𝑦 ≥ 𝑥2 + 1 ⇒ 1 ≥ 𝑥2 + 1 ⇒ 𝑥2 ≤ 0 ⇒ 𝑥 = 0 ⇒ получили единственное решение неравенства: 

𝑥 = 0, 𝑦 = 1. 

Ответ:  𝑥 = 0, 𝑦 = 1. 

https://mathproblemsbank.net/
mailto:support@mathproblemsbank.net

